EARJE T SR BT DBUR R ERE TS OB EE BRI (2 0 2 1 )

1. HESMEB NS O R E
KohiE| 5 LT baMz | 1bxMx |26 %% | 50% ARt o TR | KRR
(mSv) 15 LA 25 LL'F 50LLF |BZX5bD (A * mSv) (mSv) (mSv)
(N) (N) (N) (N) (N) (N) %1 1, 2 %1
i 396 0 0 396 2.0 0.01 0.2
(A= T 425 0 0 425 0.5 0. 00 0.2
FEJE 479 0 0 479 2.5 0.01 0.2
= 1,569 0 0 1,569 61. 4 0. 04 2.2
)t
B T 1,719 0 0 1,719 46. 8 0. 03 2.6
R 1,949 0 0 1, 949 108. 2 0. 06 3.8
i 1,965 0 0 1,965 63. 4 0.03 2.2
ARt T 2, 144 0 0 2, 144 47.3 0. 02 2.6
R 2,428 0 0 2, 428 110. 7 0.05 3.8
X1k, FTHIEmS v B4, FEIEImS v F
Y BN BRI DI AT CHESMEB \CIEE L2 2 L Db 2B N2 T - TR &E
X2 PRI OWTI/NELL T 3HTH &2 A L/MSUREL T 2 M CRiil T 5,
LA =




